
Funktionsgraphen transformieren
Mathematik 3. Klasse

BY-SA Ivo Blöchliger
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Aufgabe 4

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (x+ 1)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f(x)− 2

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f
(
− 1

2 · x
)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = 1
2 · f(x)

Aufgabe 5

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f(x)− 1

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (x− 2)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = 3
2 · f(x)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (−1 · x)

24. November 2023 3 https://fginfo.ksbg.ch

http://www.ksbg.ch/
https://creativecommons.org/licenses/by-sa/4.0/
mailto:ivo.bloechliger@ksbg.ch
https://fginfo.ksbg.ch


Funktionsgraphen transformieren
Mathematik 3. Klasse

BY-SA Ivo Blöchliger

Aufgabe 6

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f(x)− 2

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (−1 · x)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = 1
4 · f(x)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (x− 2)

Aufgabe 7

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (2 · x)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f(x) + 1

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = f (x+ 2)

−6 −5 −4 −3 −2 −1 1 2 3 4 5 6

−4

−3

−2

−1

1

2

3

4

x

y

f(x)

g(x) = 3
2 · f(x)

24. November 2023 4 https://fginfo.ksbg.ch

http://www.ksbg.ch/
https://creativecommons.org/licenses/by-sa/4.0/
mailto:ivo.bloechliger@ksbg.ch
https://fginfo.ksbg.ch


Funktionsgraphen transformieren
Mathematik 3. Klasse

BY-SA Ivo Blöchliger
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Funktionsgraphen transformieren
Mathematik 3. Klasse

BY-SA Ivo Blöchliger

Lösung 8
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